

$$f = X^4 + 2X^3 - X^2 - 4X - 2$$

$$g = X^4 + X^3 - X^2 - 2X - 2$$

$$f = X^4 + 2X^3 - X^2 - 4X - 2$$

$$g = X^4 + X^3 - X^2 - 2X - 2$$

h

s

r

$$f = X^4 + 2X^3 - X^2 - 4X - 2$$

$$g = X^4 + X^3 - X^2 - 2X - 2$$

$$X^4 + 2X^3 - \overset{h}{X^2} - 4X - 2$$

$$X^4 + X^3 - \overset{s}{X^2} - 2X - 2$$

r

$$f = X^4 + 2X^3 - X^2 - 4X - 2$$

$$g = X^4 + X^3 - X^2 - 2X - 2$$

$$X^4 + 2X^3 - \overset{h}{X^2} - 4X - 2 = 1 \cdot X^4 + X^3 - \overset{s}{X^2} - 2X - 2 + \overset{r}{X^3 - 2X}$$

$$f = X^4 + 2X^3 - X^2 - 4X - 2$$

$$g = X^4 + X^3 - X^2 - 2X - 2$$

$$\frac{X^4 + 2X^3 - X^2 - 4X - 2}{X^4 + X^3 - X^2 - 2X - 2} = 1 \cdot \frac{X^4 + X^3 - X^2 - 2X - 2}{X^3 - 2X} + \frac{X^3 - 2X}{X^3 - 2X}$$

$$f = X^4 + 2X^3 - X^2 - 4X - 2$$

$$g = X^4 + X^3 - X^2 - 2X - 2$$

$$\begin{array}{rclcl} X^4 + 2X^3 - X^2 - 4X - 2 & = & 1 & \cdot & X^4 + X^3 - X^2 - 2X - 2 & + & X^3 - 2X \\ X^4 + X^3 - X^2 - 2X - 2 & = & X + 1 & \cdot & X^3 - 2X & + & X^2 - 2 \end{array}$$

$$f = X^4 + 2X^3 - X^2 - 4X - 2$$

$$g = X^4 + X^3 - X^2 - 2X - 2$$

$$\begin{array}{rclcl} X^4 + 2X^3 - X^2 - 4X - 2 & \overset{h}{=} & 1 & \cdot & X^4 + X^3 - X^2 - 2X - 2 & + & X^3 - 2X \\ X^4 + X^3 - X^2 - 2X - 2 & \overset{s}{=} & X + 1 & \cdot & X^3 - 2X & + & X^2 - 2 \\ & & & & X^2 - 2 & & \end{array}$$

$$f = X^4 + 2X^3 - X^2 - 4X - 2$$

$$g = X^4 + X^3 - X^2 - 2X - 2$$

$$\begin{array}{rclcl} X^4 + 2X^3 - X^2 - 4X - 2 & \overset{h}{=} & 1 & \cdot & X^4 + X^3 - X^2 - 2X - 2 & + & X^3 - 2X \\ X^4 + X^3 - X^2 - 2X - 2 & \overset{s}{=} & X + 1 & \cdot & X^3 - 2X & + & X^2 - 2 \\ X^3 - 2X & \overset{r}{=} & X & \cdot & X^2 - 2 & + & 0 \end{array}$$

$$f = X^4 + 2X^3 - X^2 - 4X - 2$$

$$g = X^4 + X^3 - X^2 - 2X - 2$$

$$\begin{array}{rclcl}
 X^4 + 2X^3 - X^2 - 4X - 2 & = & 1 & \cdot & X^4 + X^3 - X^2 - 2X - 2 & + & X^3 - 2X \\
 X^4 + X^3 - X^2 - 2X - 2 & = & X + 1 & \cdot & X^3 - 2X & + & X^2 - 2 \\
 X^3 - 2X & = & X & \cdot & X^2 - 2 & + & 0 \\
 X^2 - 2 & & & & 0 & &
 \end{array}$$

$$f = X^4 + 2X^3 - X^2 - 4X - 2$$

$$g = X^4 + X^3 - X^2 - 2X - 2$$

$$\begin{array}{rclcl}
 X^4 + 2X^3 - X^2 - 4X - 2 & = & 1 & \cdot & X^4 + X^3 - X^2 - 2X - 2 & + & X^3 - 2X \\
 X^4 + X^3 - X^2 - 2X - 2 & = & X + 1 & \cdot & X^3 - 2X & + & X^2 - 2 \\
 X^3 - 2X & = & X & \cdot & X^2 - 2 & + & 0 \\
 X^2 - 2 & & & & 0 & &
 \end{array}$$

$$\text{ggT}(f, g) = X^2 - 2$$